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RRB NTPC SUNDAY QUANT(Solutions)

S1. Ans.(d)
Sol.

2

Difference of 2 year = P [L
100

=P _i_ W _i_

100~ 100
P =5000
S2. Ans.(b)
Sol.
Sum Time
2 times Px2 15 year
8 time Px(2)® - 15x3
= 45 year
$3. Ans.(b)
Sol.
Let the sum be Rs 100, then,
5.1 for first 6 months = (M) = Rs.10.
100 %2
8.I. for last 6 months = (w) = Rs.11
100 2

Effectiverate =10+ 11 = 2194

S$4. Ans.(c)
Sol.
28 = px 2L w10
100 100
P = 2800
SI = 2800 X 2 x 2 =560

1 . s
C.1.=2800 [(1 n E) _ 1] = 603.41
Difference = 603.41 — 560 = 43.41

$5. Ans.(d)
Sol.
1261 = P[(l + i)n - 1}

100
1261 = P[1.05 X 1.05 X 1.05 — 1}

= P{1.157625 — 1}
1261 = P{0.157625}
P = 8000

Bilingual

SSC CGL T-I

Most Expected
Questions

15 Full Length Mocks

1 | www.bankersadda.com www.sscadda.com

| www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/4413/SSC-CGL-Tier-I-Most-Expected-Questions-Mocks-Online-Test-Series

$6. Ans.(c)
Sol.

For the first year S.I. & C.I. are same.

Interest for second year = 540.8 — 260
= 280.8

Interest on Rs. 260 for one year = 20.8
50.8 = 2B0xRx1

100
R =8%

S$7.Ans.(d)
Sol.

Interest on 2420 for one year = 2662 — 2420 = 242

o479 — 2420XR
100
R =10%

$8. Ans.(b)

Sol.
Let the S.1. for one year =1
C.IL for half year = %
C.I for next half = % ® 1.05

~ because for half year rate of interest is considerad

as 59 and to calculate the interest we multiply it by 1.05.

AT.Q.

~+-X1.05—1= 180
13+ - 1] =180
2% — 180
[ = BxBx1
~ 100

7200 = Ex10
100

P=72,000

[ %

$9. Ans.(c)
Sol.
Amount = 30,000 + 4347 = 34347

- n
34347 =P [1 + Too
34347 [10?]“

30000 lio0

[m? 2 [m?]“
100 100

n=2
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$10. Ans.(a)
Sol. S.I. for one year = 1000

Interest on this amount for one year = 2050 — 2000
=50
5 — L000xR

100
R =504
1000 = 2=

100

P =20000

S$11. Ans.(b)
Sol. Let 6 = 45°

Option A = sin 45° = sin® 45° = % + gx
W
Option B = sin 45° = sin® 45° = % = %«r‘f
W
Option D = sin 45° = cosec 45 = rl: + WEK

Clearly option (b) is correct.

$12. Ans.(a)
Sol.

tan® 60°+6 =in® 45°-2 cosec® 45°
sec? 60° -cot 45

Required =

3+5x§—3 %2
T a1
6-6
= —-———— = {]

3

$13. Ans. (c)
Sol.tana=2
ATQ

ST tan e

cos® altan®a+1) coslaltan®a+1)
2 2x5 10

—=(8+1) 9 9
SE)

S$14. Ans. (a)
Sol.

cos37%=a
(cos (90°-8) = sinf)
gin53®=a

Also,

cos®B =1 -sin’B
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c05°53°=1 — 5in°53°

cos53° =41 — a®

B — gin53*® _ a
tan53 cons> — ioa?
$15. Ans. (b)
Sol.

tanf + cotf = 2 [tanf — cotf]
= 3 cotf = tan®

= tan” 8 = 3

=tanf =3

= @ =600

~sinf = V3
2

$16. Ans. (a)
Sol.

30° 60"
D C B

Pole AB is 30 metre high

CB = 10V3

Also, tan 30° = a8
DB

30
DB == 30v3

V3

Dif ference in shadows = DB
=30V3 - 10V3
=20V3

— CB
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$17. Ans. (d)
Sol.

1 .
cosecd — cotf = 3 — (i)
As we know
cosec’@ —cot* @ =1
= (cosech — cotf) (cosect + cotf) =1
= G) (cosecB + cotf) = 1
= cosecf + cotf = 2 — (ii)
Using equation (i)and equation (ii)

24> g
cosecd = —= =-
2 4
$18. Ans.(d)
Sol.
: : T in
Required radian measure = 120x = —

$19. Ans. (a)
Sol.

X = m:z“ = cos120°
= cos(180° — 60°)

= — cos60°

1

2

$20. Ans. (b)
Sol.
By value putting method,
Put A = 60"
x = cot30° =43
Options
(a) coseco0” — cotel® =

il =

W

(b} coseceD® + cotb0® =+

243+1
(c) secB0° + coteD® = w—g

K

(satisfied)

W
24/3-1
\.-'i

(d) secB0® — cotb0" =

$21. Ans.(b)

Sol.
£ABC = 75°
[+ 180° = mradian or "]

™ 5w .
759 =— x 75 = — radian
120 12
5
n/ZBAC=n-—-I-=Z
4 13
_ 1lZm—3m-5m __ 4_1T

12 12
i1y .
=3 radian
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$22. Ans.(b)
Sol.

m radian = 180°
180°

~ 1 radian =
_ 1BOxT*

T oan

830 3

11 11 .
=57° 2 % g0’ = 57 222
11 11

= 5:”'15'1“—l X 60" = 57°16'22"

o

$23. Ans.(a)
Sol.
tan 15° cot 75° + tan 75° cot 15°

= tan 15° cot(90° — 15°) + tan(90° — 15°).cot 15°

= tan” 15° + cot® 15°........ (i)

[ tan(90° — B) = cotB cot(90° — B) = tanf]

(2-v3) +(2+3)

=14
S$24. Ans.(d)
Sol.

A+ B=90°

=B=90"—A

~sec’ A+ sec’ B — sec” A.sec’ B

=sec’ A 4+ cosec’A — sec? A. cosec’A
1 1

cos? A zin® A

ain? A.cos® A
_ gin” Atcoz A-1
gin? A.cos® A
1-1
=% _—y.

gin? A.cos? A

$25. Ans.(a)
Sol.

sec’B —tan®B =1
sec’ B+ tan® B = %

nsec*B —tan* B

= (sec” 8 — tan”8)(sec” B + tan” 6)
= 7F_7
=1x 12 12
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$26. Ans.(b)
Sol.

m £C = 45°
A

R C

V3

3
~tanC + g = tan45° + ?

2443
2

$27. Ans.(c)
Sol.
4,-A=3,B=122C
1 1 1
A:B:C=—-—:—:—
4 3 12
A:B:C=3:4:1
Now
3x+4x+x=180
8x =180
180
X=—
_ 180

LA=3x=—
8

®x 3=67.5

$28. Ans.(a)

Sol.

cos 53° - sin 37°

= cos (90° - 37°%) - sin 37°
=sin37%°-sin 37°=0

$29. Ans.(d)

Sol.
X

Y A
XY

cotX = —= —
YZ 12

~XZ=13

We have, 5 unit = 2.5 cm
- 13 unitzz—fx 13
= 6.5 cm
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$30. Ans.(a)

S TEST SERIES

ol. i

a+B =90 Bilingual

ando:B=2:1

SSC CGL TIER-I

w= o

2016-18

E:Eiﬂ c0s60°  1/2 Previous Year Questions

cosp cos30° 3,2 99 Full Length Mocks
1 2 1

RN N V3 Validity : 12 Months
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